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Get the most from this book



In combination with Book 1, this textbook provides an introduction to economics. It has been tailored explicitly to cover the content of the OCR specification for the A Level qualification in Economics. The book is divided into sections, each covering one of the components that make up the OCR programme of study.


The text provides the foundation for studying OCR Economics, but you will no doubt wish to keep up to date by referring to additional topical sources of information about economic events. This can be done by reading the serious newspapers, visiting key sites on the internet, and reading such magazines as Economic Review.


Special features
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Prior knowledge needed


The knowledge required for the course that you have already met in your first year of studies.
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Learning objectives


A statement of the intended learning objectives for each chapter.
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Key terms


Clear, concise definitions of essential key terms where they first appear and a list at the end of each section.
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Quantitative skills


Worked examples of quantitative skills that you will need to develop.
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Synoptic links


Synoptic links showing the connections between the themes.
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Extension material


Extension points to stretch your understanding.
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Study tips


Short pieces of advice to help you present your ideas effectively and avoid potential pitfalls.
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Exercises and questions


Exercises to provide active engagement with economic analysis and practice questions at the end of each section to check your knowledge and understanding.


[image: ]







[image: ]


Summaries


Bulleted summaries of each topic that can be used as a revision tool.
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Case studies


Case studies to show economic concepts applied to real-world situations.
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Introduction



Prior learning, knowledge and progression


This book builds upon the material that was covered in Book 1. At key points during the text you will find references to particular chapters in Book 1 that will support your understanding.


Assessment objectives


In common with other economics specifications, OCR Economics entails four assessment objectives. Candidates will thus be expected to:





•  demonstrate knowledge of terms/concepts and theories/models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues



•  apply knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues



•  analyse issues within economics, showing an understanding of their impact on economic agents



•  evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues.





The structure of assessment


The A Level assessment is based on three examinations at the end of the 2-year course, one in microeconomics, one in macroeconomics and one on themes in economics. Each is a written paper lasting 2 hours. The question papers contain a combination of multiple-choice questions, a data-response section and an essay (an extended writing question).


Further details are provided on the OCR website at www.ocr.org.uk.


Economics in this book


The study of economics also requires a familiarity with recent economic events in the UK and elsewhere, and candidates will be expected to show familiarity with ‘recent historical data’ — broadly defined as covering the last 25 years. The following websites will help you to keep up to date with recent trends and events:





•  Recent and historical data about the UK economy can be found at the website of the Office for National Statistics (ONS) at: www.ons.gov.uk




•  Also helpful is the site of HM Treasury at: www.gov.uk/government/organisations/hm-treasury. Especially useful is the Treasury’s Pocket Databank, which is updated weekly, providing major economic indicators and series for both domestic and international economies: www.gov.uk/government/statistics/weekly-economic-indicators




•  The Bank of England site is well worth a visit, especially the Inflation Report and the Minutes of the Monetary Policy Committee: www.bankofengland.co.uk




•  The Institute for Fiscal Studies offers an independent view of a range of economic topics: www.ifs.org.uk






It is also important to be able to put the UK experience into an international context. There are many helpful websites that enable this. The World Bank offers an extensive array of indicators about almost every country at http://data.worldbank.org/ or you can use their data visualiser at http://devdata.worldbank.org/DataVisualizer/ which allows you to construct all sorts of interesting graphs to trace how countries have changed through time. You can also visit the UNDP at http://hdr.undp.org/en/data-explorer. Other data are available via OCED at www.oecd.org or via the European Commission at http://ec.europa.eu/eurostat.


How to study economics


There are two crucial aspects of studying economics. The first stage is to study the theory, which helps us to explain economic behaviour. However, in studying A Level Economics it is equally important to be able to apply the theories and concepts that you meet, and to see just how these relate to the real world.


If you are to become competent at this, it is vital that you get plenty of practice. In part, this means carrying out the exercises that you will find in this text. However, it also means thinking about how economics helps us to explain news items and data that appear in the newspapers and on the television. Make sure that you practise as much as you can.


In economics, it is also important to be able to produce examples of economic phenomena. In reading this text, you will find some examples that help to illustrate ideas and concepts. Do not rely solely on the examples provided here, but look around the world to find your own examples, and keep a note of these ready for use in essays and exams. This will help to convince the examiners that you have understood economics. It will also help you to understand the theories.


Enjoy economics


Most important of all, I hope you will enjoy your study of economics. I have always been fascinated by the subject, and hope that you will capture something of the excitement and challenge of learning about how markets and the economy operate. I also wish you every success with your studies.
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SECTION 1



MICROECONOMICS


Part 1


How competitive markets work





Chapter 1



Demand and marginal utility


Early on in your study of microeconomics, you were introduced to the demand and supply model, and to the way in which prices could be seen to act as a guide to resource allocation, providing signals and incentives to economic agents. Consumers represent one of the key economic agents in the analysis, and this chapter returns to the analysis of consumer behaviour, looking in more depth at the motivations of consumers and at how the demand curve can be derived and analysed. The chapter begins by introducing the important concept of the margin.
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Prior knowledge needed


This chapter uses the concept of opportunity cost (first introduced in Chapter 1 of Book 1, and looks at the nature of demand (introduced in Chapter 3 of Book 1) in a new way.
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Learning objectives


After studying this chapter, you should:





•  understand what is meant by the concept of the margin



•  be able to evaluate the extent to which the marginal concept is useful to economic agents in decision making



•  be familiar with the concepts of total and marginal utility



•  understand the law of diminishing marginal utility and what this reveals about the nature of the demand curve



•  be aware of the importance of the equi-marginal principle



•  be familiar with the limitations of marginal utility theory



•  understand the nature of a consumer’s budget line



•  be familiar with the income and substitution effects of a price change



•  be able to evaluate the concept of rationality as a way of understanding the behaviour of economic agents
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The concept of the margin


Decisions, decisions…


How will you spend your evening? You have to read the chapter in your economics textbook that has been set for you, but there is a TV programme about to start that you would quite like to watch. Will the extra benefit that you gain from watching the TV programme compensate for the cost of not reading your chapter (or having to get up early tomorrow to read it)?


A firm finds that it is falling behind on its orders. Should it take on an extra worker to enable it to catch up? Would the additional benefit that the firm would gain by keeping its customers happy compensate for the extra wage costs incurred?


One of the first economic ideas that you met at the beginning of your study of economics was the notion of opportunity cost. This captures the idea that when you take a decision or make a choice, you will choose on the basis of comparing the benefit you gain from a choice with the benefit from the next best alternative choice. The two examples of decisions above illustrate this notion. If you choose to watch the TV programme, you incur an opportunity cost in terms of the cost of not reading your chapter. If the firm chooses not to hire the additional worker, it incurs an opportunity cost, by keeping its customers waiting and potentially losing orders.
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Study tip


There are several concepts that you met early on in your study of economics that will be important as you continue, so you may need to refresh your memory. Remember that the A level assessment covers all the material in the course.
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The marginal principle


The decisions also illustrate another important notion in economics, as in both cases, the decision is taken on the basis of balancing two alternatives against each other by weighing up small changes. Economists rely heavily on the idea that firms, consumers and other economic agents can make good decisions by thinking in terms of the margin. This is known as the marginal principle.


You will meet this approach to decision making in a variety of situations as you study economics. At the heart of much of economic analysis is the notion that economic agents have clear objectives, and that they take decisions that allow them to do the best that they can to achieve those objectives. For example, to analyse the decisions taken by firms, it is often assumed that they set out to maximise profits. By taking decisions on the basis of small (marginal) changes, they can fine-tune their decisions, and home in on the best possible position. By assuming this, economists are able to model the decisions and analyse the consequences.


This approach is based on the assumption that economic agents are rational, in the sense that they always do what they expect to bring the best possible results. By balancing the marginal benefit against the marginal cost of an action, they can achieve this. In other words, if the marginal benefit of a particular choice exceeds its marginal cost, then a rational agent would choose to proceed, but if the marginal benefit is less than marginal cost, it would be better not to proceed. The cusp decision is where marginal benefit equals marginal cost, because there is no incentive to change the decision.




[image: ]


Key terms


marginal principle the idea that economic agents may take decisions by considering the effect of small changes from the existing situation


rational decision making a decision that allows an economic agent to maximise their objective, by setting the marginal benefit of an action equal to its marginal cost
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The marginal principle comes into play at the societal level as well. For example, you may recall that in the presence of externalities, the best position for society is reached when marginal social benefit is equal to marginal social cost. An example is where the firms in a market cause pollution as part of their production activities. This is an example of market failure, and in order to overcome this, it may be necessary to influence the behaviour of firms by bringing their marginal private costs into line with the marginal costs faced by society.


The marginal principle is thus seen to be important for the construction of economic models, and important for economic decision-makers in enabling them to take rational decisions. However, it also highlights an important criticism that has been levelled at economists and at economics. The assumption that economic agents behave rationally has been questioned by many critics. Do firms always act to maximise profits? Do consumers never take decisions on impulse or make choices that are not in their own best interests? It is important to be aware of these issues, and they will be considered as the course proceeds.
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Summary





•  Opportunity cost is an important element in making choices.



•  Decisions are often taken by considering small changes to existing behaviour.



•  This approach to decision making is known as the use of the marginal principle.



•  The marginal principle underpins the notion of rational decision making.



•  The assumption of rationality enables economists to model the behaviour of economic agents.



•  There may be circumstances in which decisions do not reflect this rational approach.
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Exercise 1.1





a Think about some of the decisions that you take in your daily life. Can you think of examples where these illustrate the marginal principle?



b Do you consider that you take decisions rationally in order to maximise your satisfaction?
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Marginal utility theory


Suppose you could measure the satisfaction that you derive from consuming a good. For example, consider the case of chocolate bars. Consuming a chocolate bar gives you a certain amount of satisfaction — which economists often refer to as utility in this context. Imagine that it is possible to put a numerical value on this utility, and for the sake of argument that the utility you get from consuming a chocolate bar is 30 ‘utils’, this being the unit in which utility is measured.


Having consumed the chocolate bar, you are now offered a second, which you also consume, this time receiving 26 utils of utility. You probably get less utility from the second bar simply because you have already had some chocolate — and the more chocolate bars you eat, the less utility you are likely to get from the additional bar. Notice here that the valuation of the utility refers to the additional satisfaction that is gained from the second bar. This is therefore known as the marginal utility from consuming an additional chocolate bar. Indeed, there will come a time when you have eaten so much chocolate that you cannot face eating any more, as you know you would be ill. Table 1.1 shows the marginal utility that Emily gains from consuming chocolate bars.
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Key terms


utility the satisfaction received from consuming a good or service


marginal utility the additional utility gained from consuming an extra unit of a good or service
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Table 1.1 Utility from chocolate






	Number of bars

	Marginal utility (utils)






	1

	30






	2

	26






	3

	21






	4

	15






	5

	8






	6

	0







In this example, the sixth chocolate bar gives no satisfaction to Emily, who has already had enough chocolate for the day.


This idea that the more of a good you consume, the less additional pleasure you get from the extra unit of it is known as the law of diminishing marginal utility. It is a ‘law’ because it has been found to be universally true. If you keep consuming more of something, you get less additional satisfaction from extra units. Figure 1.1 plots the marginal utility values on a graph. The law of diminishing marginal utility ensures that the MU curve is downward sloping.




[image: ]


Key term


law of diminishing marginal utility states that the more units of a good that are consumed, the lower the utility from consuming those additional units
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If it were really possible to measure satisfaction in this way, it would also be possible to calculate the total utility that Emily receives from consuming chocolate bars. For instance, if she consumes two bars, she gets 30 + 26 = 56 utils. If she has a third bar, her total utility would be 77 utils.


The relationship between ‘total’ and ‘marginal’ appears in many areas of economic analysis, and it is good to be clear about it. The ‘marginal’ value is calculated as the change in the ‘total’.
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Quantitative skills 1.1


Calculating the marginal value from the total


Table 1.2 shows the total utility that Thomas obtains from consuming a good.


Table 1.2 Thomas’s total utility from good X






	Units of X

	Total utility (utils)

	Total utility (utils)






	1

	10

	10






	2

	19

	 






	3

	27

	27






	4

	34

	 






	5

	40

	40






	6

	45

	 






	7

	49

	49







The second column of the table shows that Thomas receives 10 utils from the first unit of the good and 19 from the second, so the marginal utility of the second is simply 19 – 10 = 9 utils. Similarly, he receives 8 utils from consuming the third unit.


It is important to notice that the second column in this particular example shows the total utility of each and every unit of X. Full information is not always available, so in the final column only the alternate total utility values are shown. This makes a difference to the calculation. To calculate marginal utility when moving from 3 to 5 units of X, the change in total utility (40 – 27 = 13 utils), the result has to be expressed on a per unit basis, i.e. 13/2 = 6.5, this being the average increase in total utility as consumption increases by 2 units.
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Study tip


The relationship between the ‘total’ and the ‘marginal’ is not confined to this particular example of utility. It will also apply in the case of the costs faced by firms and the revenue that they receive from selling their products, and in many other contexts. It is a purely mathematical relationship, and you should watch out for it.
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Exercise 1.2


In Quantative skills 1.1, suppose an 8th unit of X would give Thomas 2 utils of utility. What would be his total utility if he were to consume 8 units of X?


[image: ]





Marginal utility and demand


If marginal utility were measured in terms of money, then the MU curve would become a person’s demand curve. Consider Figure 1.2. The quantity of the good Q* provides this individual with marginal utility of MU*. If the price of the good were higher than MU*, then the individual would not buy Q* of the good, as the price exceeds his valuation. On the other hand, if price were to be set lower than MU*, then the individual would be prepared to buy more than Q*, as the marginal utility would be higher than the asking price. Another way of putting this is to say that the consumer will purchase the good up to the point where the price is equal to the marginal utility gained from consuming the good. Of course, a similar argument applies at each point along the MU curve, so this is indeed the individual’s demand curve when utility is measured in money terms.
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The previous discussion of the demand curve emphasised that the curve shows the relationship between the quantity demanded of a good and its price, ceteris paribus. In other words, it focused on the relationship between demand and price, holding other influences on demand constant. This argument also applies in this case. Changes in the price of other goods, in consumer incomes or in preferences would all affect the position of the D (MU) curve.


This highlights the fact that decisions about the consumption of one good are interconnected with decisions being made about other goods. If a consumer chooses to consume more of one good, that means there is less income available to be spent on other goods. Furthermore, a decision to consume more of one good will affect the consumption of complementary and substitute goods. So rather than focusing on a consumer’s decisions about the demand for a single good, it is also necessary to consider the demand for a bundle of goods and services, and how a consumer can arrive at a joint decision.


The equi-marginal principle


To keep things simple, consider an individual choosing a combination of two goods, x and y. The individual gains utility from each good, and sets out to maximise the utility received from consumption of both. The quantity chosen of one good affects the demand for the other, given a limited budget to spend on the items. Therefore, it is not a simple question of setting marginal utility equal to price, because the decision about one good affects the position of the MU curve for the other good because of the linkage through the budget constraint.


It turns out that the best a consumer can do is to consume the two goods at the point where the ratio of the marginal utilities of the two goods is equal to the ratio of their prices. In other words, this is where:
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This is known as the equi-marginal principle. It describes the conditions under which a consumer will maximise his or her utility. In principle, this can be extended to the case where consumers are choosing between many goods and services.
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Key term


equi-marginal principle that a consumer does best in utility terms by consuming at the point where the ratio of marginal utilities from two goods is equal to the ratio of their prices
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Limitations of marginal utility theory


The marginal utility approach provides insights into consumer behaviour, but it has its limitations. First, utility is not something that can be measured; there is no objective way of valuing utility, which will vary from individual to individual. In other words, because each consumer is different and has different preferences, it is impossible to compare utility between individuals. One person may gain different utility from £1 than another, and there is no way of comparing their utility values. This does not mean that the analysis is unhelpful — but it must be recognised that there are limitations when it comes to putting the theory into practice. For example, it may be difficult to think of aggregating across individual consumers in order to build a market demand curve from a good. However, it will be shown that there are some important insights to be gained from pushing this analysis a bit further.


It is also difficult to conceive of the marginal utility approach when the analysis needs to be extended to multiple goods and services, so that the many interactions between the demand for one good and another need to be taken into account. One way of making some sense of this would be to consider the consumer’s choice as being between the utility gained from one good as compared with all other goods considered together. However, assume that a consumer is choosing between two goods.


The budget line


Suppose that Adam has £2.40 to spend, and wants to split his purchases between apples (which are 40p each) and cola (which is 80p per bottle). He can choose to spend the whole amount on apples, or on cola — or can buy some of each. Given these prices, he could buy 6 apples or 3 bottles of cola. The possibilities are shown as the budget line in Figure 1.3. This connects the combinations of apples and cola that Adam could purchase. For example, he could buy 4 apples and 1 bottle of cola, as marked on the figure. One way of interpreting the budget line is that it is the boundary that shows the combinations of apples and cola that Adam can afford — he could not choose to consume beyond the budget line.
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Key term


budget line shows the boundary of an individual’s consumption set, given the amount available to spend and the prices of the goods
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Figure 1.4 shows how the budget line would be affected if Adam found another £1.60 in his pocket so that he had £4 to spend on these two goods. The budget line shifts from BL0 to BL1, and Adam can now buy more of each of the goods. What combination of the two goods he will choose in the new situation is uncertain, as this will depend upon Adam’s preferences. Notice that the slope of the budget line here does not change, as the relative price of the two goods remains the same.
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The effect of a change in price


Consider the situation in which the price of apples changes. Perhaps there is a glut of apples, so that the price falls. If the price falls from 40p to 20p, Adam’s (original) budget line will change. He can still buy a maximum of 3 bottles of cola, but could now buy 8 apples if he so wished. This is shown in Figure 1.5, where the budget line moves from BL0 to BL1.
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The choice set for Adam has expanded, as potentially he is now able to consume more of both goods. This is because the fall in price means that his budget is now worth more, in the sense that it allows him to expand his consumption set. This is known as the income effect of the price change. However, there is a second effect operating here, because the relative price of the two goods has changed. This is reflected in the slope of the budget line. From Adam’s point of view, the relative price of apples has fallen, so ceteris paribus he will tend to shift towards consumption of apples. This is known as the substitution effect of the price change. Another way of looking at this is that Adam’s opportunity cost of consuming cola has increased in terms of apples, so he will tend to substitute apples for cola.
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Key terms


income effect of a price change reflects the way that a change in the price of a good affects purchasing power


substitution effect of a price change reflects the way that a change in the price of a good affects relative prices
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The exact way in which Adam will change his consumption pattern between these goods as the relative price changes will depend upon his preferences. However, it is useful to realise that the change will be influenced by these two different effects. In real life, he would be choosing between a wider set of possible goods and services, but in principle the same effects will come into play.
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Exercise 1.3


Suppose that Jennifer is allocating her available budget between two goods. Using a diagram, show how her budget line would shift:





a if the amount that she has to spend on these two goods falls



b if the price of one of the goods increases
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Back to the demand curve


Notice that the analysis of the effect of a change in price on the demand for the two goods is providing information about the demand curve for the good whose price is changing. By tracking the way in which Adam’s demand for apples changes as the price of apples varies, the shape of his individual demand curve is traced out. This is a reminder that the marginal utility analysis provides the underpinning for the demand curve.
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Extension material


Modelling Adam’s preferences


The indifference curve


In order to analyse Adam’s choice between apples and cola, some way is needed to show his preferences on the diagram. This can be done using indifference curves. An indifference curve shows the various combinations of apples and cola that give Adam equal satisfaction — that is, equal utility. These are downward sloping because Adam can trade off the satisfaction received from one of the goods against that from the other. In other words, if he consumes fewer apples, he needs to consume more cola in order to maintain equal utility.


Figure 1.6 shows three such curves. Consider the curve IC2. This shows that Adam would receive equal utility from consuming 2 bottles of cola and 2 apples as he would from 3 bottles of cola and 1 apple. Similarly, any point along this curve would be equally satisfactory to Adam (if he could consume fractions of bottles or apples). The same argument applies to the other curves shown in the diagram, but because we assume that Adam would prefer more to less, he would maximise utility by reaching the highest possible curve that he can reach. In other words, he would prefer to be on IC2 than on IC1, but IC3 would be better than both.
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Adam’s choice


Adam cannot choose to be on just any of the curves, as he is constrained by his budget line. However, if the budget line is superimposed on the map of indifference curves, his choice can be identified. This can be seen in Figure 1.7. The highest indifference curve that Adam can reach given his budget line (BL) is IC2. The budget line just touches the indifference curve at one point, where Adam consumes 2 bottles of cola and 2 apples. At any other point along the budget line or below it, he would receive lower utility than this. The tangency point at A is his choice point.
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The effect of a change in budget


Suppose that Adam receives an increase in his income, so that his budget for spending on these goods increases, as in the earlier discussion. This is shown in Figure 1.8, where the budget line moves from BL0 to BL1. As a result, Adam can now reach a higher indifference curve by moving from point A to point B. He now consumes 3 bottles of cola and 4 apples. In this example, Adam increases his consumption of both goods as income rises, indicating that they are both normal goods.
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This need not be the case. The indifference curves could be such that the change in income causes Adam to consume less of one of the goods. In other words, one of the goods could be an inferior good. Figure 1.9 illustrates this on the assumption that Adam can consume fractions of bottles of cola and apples. In this example, Adam responds to the change in income by consuming more apples, but less cola.
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A fall in the price of apples


If there is a fall in the price of apples, Adam’s budget line is again affected. Figure 1.10 shows what happens to his budget line if the price of apples halves. With this set of indifference curves, his choice changes from point A to point B, and he continues to consume 2 bottles of cola, but now chooses 4 apples.
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It is now possible to identify the income and substitution effects. Consider Figure 1.11. This time, suppose that there is an increase in the price of apples, shifting the budget line from BL0 to BL1. Adam’s initial choice point is at A, and the increase in the price of apples means that he can no longer reach this point, and thus ends up at B. Given the new relative prices, the shadow budget line BL* shows the level of income that would have left Adam at his original utility level — that is, this would have allowed him to reach IC2. The impact of the price change is thus partly a substitution effect along the indifference curve from A to C, and partly an income effect from C to B.
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Notice that in this example, both apples and cola are normal goods, and the substitution and income effects work in the same direction. In other words, when the price of apples increases, both income and substitution effects reduce the consumption of apples.


Figure 1.12 shows that when apples are an inferior good, the substitution and income effects work in opposite directions. Adam’s tendency to substitute cola for apples (from A to C) is partly offset by the income effect from C to B: as income falls, Adam tends to consume more apples.
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Do consumers always act rationally?


Marginal utility theory rests on the crucial assumption that consumers act rationally in taking decisions about their spending and consumption by setting out to maximise their utility. Recent advances in behavioural economics suggest that this is not always the case.
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Key term


behavioural economics a branch of economics that builds on the psychology of human behaviour in decision making
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This branch of economic analysis recognises that the psychology of human decision making is more complex than the simple desire to maximise utility. People do not always focus on purely economic influences, but may act on impulse, or in response to their feelings. This can lead them to take decisions about their spending that cannot be explained only by utility maximisation. For example, they may make charitable donations or may purchase more of some goods than would be dictated by rational economic behaviour, perhaps because there were seen to be special offers available.


Increasingly, behavioural economists are using experimental situations to discover more about how people react in situations of risk and how their spending behaviour is influenced by impulse and in response to stimuli. This analysis is potentially valuable to firms: if they can understand what induces people to behave in certain ways, they may be able to influence their spending.
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Exercise 1.4


Do you ever give to charity, or buy a cake you don’t really want to support Children in Need? Perhaps you engage in fund-raising activities when you could be having fun doing something else? Discuss the extent to which this represents a departure from rational behaviour.
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Summary





•  Marginal utility represents the additional satisfaction that a consumer receives from consuming an additional unit of a good.



•  Marginal utility diminishes, the more of a good is consumed.



•  This helps to explain why demand curves are downward sloping.



•  The equi-marginal principle shows that an individual’s utility is maximised where the ratio of the marginal utilities of two goods is equal to the ratio of their prices.



•  The budget line shows the combination of goods that an individual can consume given the amount available to spend and the prices of the goods.



•  The effects of a price change can be divided into an income effect and a substitution effect.
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SECTION 1



MICROECONOMICS


Part 2


Competition and market power





Chapter 2



Business objectives and efficiency


Chapter 1 explored the notion of marginal utility and looked at the underpinnings of consumer theory. Attention now switches to the supply side, considering in more depth the motivations of firms and how this may affect their behaviour. The chapter also reminds you of how economists view efficiency and introduces some more dimensions of efficiency.
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Prior knowledge needed


This chapter builds upon material that was contained in Book 1, Chapters 4 and 6, including Quantitative skills 6.1, which is worth revisiting as a reminder. These chapters introduced the supply curve, the importance of costs and the assumption of profit maximisation. This chapter develops these ideas further, and also provides a reminder of the meaning and significance of efficiency, which was also discussed in Book 1, Chapter 6.
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Learning objectives


After studying this chapter, you should:





•  be aware of the characteristics of firms in their role as economic agents



•  be familiar with short- and long-run cost curves and their characteristics



•  understand the significance of economies of scale in the context of the growth of firms



•  understand the profit maximisation motive and its implications for firms’ behaviour



•  be aware of the principal–agent issue, and its influence on the motivations of firms



•  be familiar with alternative motivations for firms and how these affect decision making



•  be aware of the concept of efficiency and its various meanings in economics
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Types of firm


The economic agents concerned with providing the supply of goods and services are firms. Firms exist in order to organise production by bringing together various factors of production in order to supply output to market.
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Key term


firm an organisation that brings together factors of production in order to produce output
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Internally, firms may be organised in various ways, from small sole proprietors (such as a corner shop) to mega-sized multinational corporations (such as Google). A key decision that all firms face concerns the scale of their operations. This decision turns partly on the nature of the market that they are serving, but it also depends upon the technology of the sector in which they operate and the structure of costs that they face.


Some firms may need to grow in order to compete with other large-scale competitors in global markets. There may be many reasons why firms wish to expand their operations. This chapter will begin to explain why this is so, and show how the decision about how much output to produce depends upon what it is that a firm is trying to achieve, and on the market environment in which it is operating.


In some sectors, there are examples of both large and small firms. For example, in the leisure sector, your local gymnasium may be a relatively small enterprise, but there are also some big players in the market, such as Chelsea FC and Sky. In the transport sector, there may be small local taxi firms, but there are also large firms such as British Airways.
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Summary





•  A firm is an organisation that exists to bring together factors of production in order to produce goods or services.



•  Firms range, in the complexity of their organisation, from sole proprietors to public limited companies.



•  Firms vary in size, from one-person concerns to large multinational corporations operating in global markets.
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Exercise 2.1


Identify firms that operate in the town or city where you live. Which of them would you classify as being relatively small-scale enterprises, and which operate on a more national basis?
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Firms and their costs


Firms have to make key decisions about the quantity of output that they wish to produce. This also involves taking decisions about the inputs of factors of production needed to produce this output, and the ways in which those factors are combined. An important element in taking these decisions concerns the way in which the costs of production vary with the level of output to be produced, which depends upon the prices of the factors of production and the way in which they are combined.


This section focuses on the relationship between costs and the level of output produced by a firm. For simplicity, assume that the firm produces a single product using two factors of production — labour and capital.


In exploring the firm’s decisions, it is important to distinguish between the short run and the long run. In the short run the firm faces limited flexibility. Varying the quantity of labour input that the firm uses may be relatively straightforward — it can increase the use of overtime, or hire more workers, fairly quickly. However, varying the amount of capital that the firm has at its disposal may take longer. For example, it takes time to commission a new piece of machinery, or to build a new factory — or a Channel Tunnel! Hence labour is often regarded as a flexible factor and capital as a fixed factor. The short run is defined as the period over which the firm is free to vary the input of variable factors, but not of fixed factors. In the long run, the firm is able to vary inputs of both variable and fixed factors.
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Key terms


short run the period over which a firm is free to vary its input of one factor of production (labour), but faces fixed inputs of the other factors of production


long run the period over which the firm is able to vary the inputs of all its factors of production
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The nature of technology in an industry will determine the way in which output varies with the quantity of inputs. However, one thing is certain. If the firm increases the amount of inputs of the variable factor (labour) while holding constant the input of the other factor (capital), it will gradually derive less additional output per unit of labour for each further increase. This is known as the law of diminishing returns, and is one of the few ‘laws’ in economics. It is a short-run concept, as it relies on the assumption that capital is fixed.


It can readily be seen why this should be the case. Suppose a firm has 10 computer programmers working in an office, using 10 computers. The 11th worker may add some extra output, as the workers may be able to ‘hot-desk’ and take their coffee breaks at different times. The 12th worker may also add some extra output, perhaps by keeping the printers stocked with paper. However, if the firm keeps adding programmers without increasing the number of computers, each extra worker will be adding less additional output to the office. Indeed, the 20th worker may add nothing at all, being unable to get access to a computer.


Total, marginal and average costs


In talking about costs, economists distinguish between total, marginal and average costs. Total cost is the sum of all costs that are incurred in order to produce a given level of output. Total cost will always increase as the firm increases its level of production, as this will require more inputs of factors of production, materials and so on.


Average cost is simply the cost per unit of output — it is total cost divided by the level of output produced.


Economists rely heavily on the idea that firms, consumers and other economic actors can make good decisions by thinking in terms of the margin, as was explained in Chapter 1. This is known as the marginal principle. For example, a firm may examine whether a small change in its behaviour makes matters better or worse. In this context, marginal cost is important. It is defined as the change in total cost associated with a small change in output. In other words, it is the additional cost incurred by the firm if it increases output by 1 unit.
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Key terms


law of diminishing returns a law stating that if a firm increases its inputs of one factor of production while holding inputs of the other factor fixed, eventually the firm will get diminishing marginal returns from the variable factor


total cost the sum of all costs that are incurred in producing a given level of output


average cost total cost divided by the quantity produced; sometimes known as unit cost


marginal cost the cost of producing an additional unit of output
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Study tip


You may find it helpful at this point to look back at Quantitative skills 6.1 in Book 1, Chapter 6, which explored the relationship between total, marginal and average costs.
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Costs in the short run


Because the firm cannot vary some of its inputs in the short run, some costs may be regarded as fixed costs, and some as variable costs. In this short run, some fixed costs are sunk costs: that is, they are costs that the firm cannot avoid paying even if it chooses to produce no output at all. Total costs are the sum of fixed and variable costs:
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Key terms


fixed costs costs that do not vary with the level of output


variable costs costs that vary with the level of output


sunk costs costs incurred by a firm that cannot be recovered if the firm ceases trading
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Total costs will increase as the firm increases the volume of production because more of the variable input is needed to increase output. The way in which the costs will vary depends on the nature of the production function, and on whether the prices of labour or other factor inputs alter as output increases.


A common assumption made by economists is that in the short run, at very low levels of output, total costs will rise more slowly than output, but that as diminishing returns set in, total costs will accelerate, as shown in Figure 2.1.
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Quantitative skills 2.1


Graphing short-run costs


In Book 1, Quantitative skills 6.1 showed the arithmetic relationship between the components of short-run costs. The short-run average and marginal curves based on these data are plotted in Figure 2.2. First, notice that short-run average total costs (SATC) takes on a U-shape. This form is often assumed in economic analysis. SATC is the sum of average fixed and variable costs (SAFC and SAVC, respectively). Average fixed costs slope downwards throughout — this is because fixed costs do not vary with the level of output, so as output increases, SAFC must always get smaller, as the fixed costs are spread over more and more units of output. However, SAVC also shows a U-shape, and it is this that gives the U-shape to SATC.
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A very important aspect of Figure 2.2 is that the short-run marginal cost curve (SMC) cuts both SAVC and SATC at their minimum points. This is always the case. If you think about this for a moment, you will realise that it makes good sense. If you are adding on something that is greater than the average, the average must always increase. For a firm, when the marginal cost of producing an additional unit of a good is higher than the average cost of doing so, the average cost must rise. If the marginal cost is the same as the average cost, then average cost will not change.


An example can show how general this rule is. Suppose that a team newly promoted to football’s premier league brings in a new striker, whose wage far exceeds that of existing players. What happens to the average wage? Of course it must increase, as the marginal wage of the new player is higher than the previous average wage. This is quite simply an arithmetic property of the average and the marginal, and always holds true.
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Remember that the short-run cost curves show the relationship between the volume of production and costs under the assumption that the quantity of capital and other inputs are fixed, so that in order to change output the firm has to vary the amount of labour. The position of the cost curves thus depends on the quantity of capital. In other words, there is a short-run average total cost curve for each given level of other inputs.
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Study tip


Remember that when you draw the average and marginal cost curves for a firm, the marginal cost curve will always cut average cost at the minimum point of average cost. Another way of viewing marginal cost is as the slope or gradient of the total cost curve.
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Costs in the long run


In the long run, a firm is able to vary capital and labour (and other factor inputs). It is thus likely to choose the level of capital that is appropriate for the level of output that it expects to produce. Figure 2.3 shows a selection of short-run average total cost curves corresponding to different expected output levels, and thus different levels of capital. With the set of SATC curves in Figure 2.3, the long-run average cost curve can be seen to take on a U-shape.
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Extension material


Using a diagram to identify the long-run average cost curve


For the firm in Figure 2.3, the choice of capital is important. Suppose the firm wants to produce the quantity of output q1. It would choose to install the amount of capital corresponding to the short-run total cost curve SATC1, and could then produce q1 at an average cost of C1 in the short run. However, if the firm finds that demand is more buoyant than expected, and so wants to increase output to q2, in the short run it has no option but to increase labour input and expand output along SATC1, taking cost per unit to C2.


In the longer term, the firm will be able to adjust its capital stock and move on to SATC2, reducing average cost to C3. Thus, as soon as the firm moves away from the output level for which capital stock is designed, it incurs higher average cost in the short run than is possible in the long run.


In this way a long-run average cost curve can be derived to illustrate how the firm chooses to vary its capital stock for any given level of output. The dashed line in Figure 2.3 shows what such a curve would look like for the firm. The long-run average cost curve (LAC) just touches each of the short-run average cost curves, and is known as the ‘envelope’ of the SATC curves.
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Economies of scale


One of the reasons why firms find it beneficial to be large is the existence of economies of scale. These occur when a firm finds that it is more efficient in cost terms to produce on a larger scale.
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Key term


economies of scale occur for a firm when an increase in the scale of production leads to production at lower long-run average cost
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It is not difficult to imagine industries in which economies of scale are likely to arise. For example, recall the notion of the division of labour, which you encountered earlier. When a firm expands, it reaches a certain scale of production at which it becomes worthwhile to take advantage of division of labour. Workers begin to specialise in certain stages of the production process, and their productivity increases. Because this is only possible for relatively large-scale production, this is an example of economies of scale. It is the size of the firm (in terms of its output level) that enables it to produce more efficiently — that is, at lower average cost.


Although the division of labour is one source of economies of scale, it is by no means the only source, and there are several explanations of cost benefits from producing on a large scale. Some of these are industry-specific, and thus some sectors of the economy exhibit more significant economies of scale than others — it is in these activities that the larger firms tend to be found. There are no hairdressing salons in the top ten largest firms, but there are plenty of oil companies.



Technology


One source of economies of scale is in the technology of production. There are many activities in which the technology is such that large-scale production is more efficient.


Volume


One source of technical economies of scale arises from the physical properties of the universe. There is a physical relationship between the volume and surface area of an object, whereby the storage capacity of an object increases proportionately more than its surface area. Consider the volume of a cube. If the cube is 2 metres each way, its surface area is 6 × 2 × 2 = 24 square metres, while its volume is 2 × 2 × 2 = 8 cubic metres. If the dimension of the cube is 3 metres, the surface area is 54 square metres (more than double the surface area of the smaller cube) but the volume is 27 cubic metres (more than three times the volume of the smaller cube). Thus the larger the cube, the lower the average cost of storage. A similar relationship applies to other shapes of storage containers, whether they be barrels or ships.


What this means in practice is that a large ship can transport proportionally more than a small ship, and that large barrels hold more wine relative to the surface area of the barrel than small barrels. Hence there may be benefits in operating on a large scale.


Furthermore, some capital equipment is designed for large-scale production, and would only be viable for a firm operating at a high volume of production. Combine harvesters cannot be used in small fields; a production line for car production would not be viable for small levels of output. In other words, there may be indivisibilities in the production process.


Overheads


In addition to indivisibilities, there are many economic activities in which there are high overhead expenditures. Such components of a firm’s costs do not vary directly with the scale of production. For example, having built a factory, the cost of that factory is the same regardless of the amount of output that is produced in it. Expenditure on research and development could be seen as such an overhead, which may be viable only when a firm reaches a certain size.


Notice that there are some economic activities in which these overhead costs are highly significant. For example, think about the Channel Tunnel. The construction (overhead) costs were enormous compared to the costs of running trains through the tunnel. Thus the overhead cost element is substantial — and the economies of scale will also be significant for such an industry.
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There are other examples of this sort of cost structure, such as railway networks and electricity supply. The largest firm in such a market will always be able to produce at a lower average cost than smaller firms. This could prove such a competitive advantage that no other firms will be able to become established in that market, which may therefore constitute what is known as a natural monopoly. Intuitively, this makes sense. Imagine having several underground railway systems operating in a single city, all competing against each other on the same routes!



Management and marketing


A second source of economies of scale pertains to the management of firms. One of the key factors of production is managerial input. A certain number of managers are required to oversee the production process. As the firm expands, there is a range of volumes of output over which the management team does not need to grow as rapidly as the overall volume of the firm, as a large firm can be managed more efficiently. Notice that there are likely to be limits to this process. At some point, the organisation begins to get so large and complex that management finds it more difficult to manage. At this point diseconomies of scale are likely to cut in — in other words, average costs may begin to rise with an increase in output at some volume of production.
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Key terms


natural monopoly monopoly that arises in an industry in which there are such substantial economies of scale that only one firm is viable


diseconomies of scale occur for a firm when an increase in the scale of production leads to higher long-run average costs
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Similarly, the cost of marketing a product may not rise as rapidly as the volume of production, leading to further scale economies. One interpretation of this is that we might see marketing expenses as a component of fixed costs — or at least as having a substantial fixed cost element.



Finance and procurement


Large firms may have advantages in a number of other areas. For example, a large firm with a strong reputation may be able to raise finance for further expansion on more favourable terms than a small firm. This, of course, reinforces the market position of the largest firms in a sector and makes it more difficult for relative newcomers to become established.


Once a firm has grown to the point where it is operating on a relatively large scale, it will also be purchasing its inputs in relatively large volumes. In particular, this relates to raw materials, energy and transport services. When buying in bulk in this way, firms may be able to negotiate good deals with their suppliers, and thus again reduce average cost as output increases.


It may even be the case that some of the firm’s suppliers will find it beneficial to locate in proximity to the firm’s factory, which would reduce costs even more.



External economies of scale


The factors listed so far that may lead to economies of scale arise from the internal expansion of a firm. If the firm is in an industry that is itself expanding, there may also be external economies of scale.


Some of the most successful firms of recent years have been involved in activities that require high levels of technology and skills. The computer industry is one example of an economic activity that has expanded rapidly. As the sector expands, a pool of skilled labour is built up that all the firms can draw upon. The very success of the sector encourages people to acquire the skills needed to enter it, colleges may begin to find it viable to provide courses and so on. Each individual firm benefits in this way from the overall expansion of the sector. The greater availability of skilled workers reduces the amount that individual firms need to spend on training.


Computer engineering is by no means the only example of this. Formula 1 development teams, pharmaceutical companies and others similarly enjoy external economies of scale.


Economies of scope


There are various ways in which firms expand their scale of operations. Some do so within a relatively focused market, but others are multi-product firms that produce a range of different products, sometimes in quite different markets.


For example, look at Nestlé. You may immediately think of instant coffee, and indeed Nestlé produces 200 different brands of instant coffee worldwide. However, Nestlé also produces baby milk powder, mineral water, ice cream and pet food, and has diversified into hotels and restaurants.


Such conglomerate companies can benefit from economies of scope, whereby there may be benefits of size across a range of different products. These economies may arise because there are activities that can be shared across the product range. For example, a company may not need a finance or accounting section for each different product, nor human resource or marketing departments. There is thus scope for economies to be made as the firm expands.
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Key terms


internal economies of scale economies of scale that arise from the expansion of a firm


external economies of scale economies of scale that arise from the expansion of the industry in which a firm is operating


economies of scope economies arising when average cost falls as a firm increases output across a range of different products
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Exercise 2.2


Which of the following reflects a movement along a long-run average cost curve, and which would cause a shift of a long-run average cost curve?





a A firm becomes established in a market, learning the best ways of utilising its factors of production.



b A firm observes that average cost falls as it expands its scale of production.



c The larger a firm becomes, the more difficult it becomes to manage, causing average cost to rise.



d A firm operating in the financial sector installs new, faster computers, enabling its average cost to fall for any given level of service that it provides.
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Returns to scale


In Figure 2.4, if the firm expands its output up to q*, long-run average cost falls. Up to q* of output is the range over which there are economies of scale. To the right of q*, however, long-run average cost rises as output continues to be increased, and the firm experiences diseconomies of scale. The output q* itself is at the intermediate state of constant returns to scale.
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It is important not to confuse the notion of returns to scale with the idea introduced earlier of diminishing marginal returns to a factor. The two concepts arise in different circumstances. The law of diminishing returns to a factor applies in the short run, when a firm increases its inputs of one factor of production while facing fixed amounts of other factors. It is thus solely a short-run phenomenon. Diseconomies of scale (sometimes known as decreasing returns to scale) can occur in the long run, and the term refers to how output changes as a firm varies the quantities of all factors.


The point at which long-run average cost stops falling is known as the minimum efficient scale. This is the smallest level of output that a firm can produce at the minimum level of long-run average cost.
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Key terms


constant returns to scale found when long-run average cost remains constant with an increase in output — in other words, when output and costs rise at the same rate


minimum efficient scale the level of output at which long-run average cost stops falling as output increases
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The long-run average cost curve (LAC) is drawn as a U-shape because of the assumptions that were made about the technology of production. The underlying assumption here is that the firm faces economies of scale at relatively low levels of output, so that LAC slopes downwards. However, at some point decreasing returns to scale set in, and LAC then begins to slope upwards.


Will the LAC curve always take this shape? It turns out to be a convenient representation, but in practice the LAC curve can take on a variety of shapes. Figure 2.5 shows some of these. LAC1 is the typical U-shape, which has been discussed. LAC2 shows an example of a situation in which there are economies of scale up to a point, after which long-run average cost levels out and there is a long flat range over which the firm faces constant returns to scale. LAC3 is a bit similar, except that the constant returns to scale (flat) segment eventually runs out and diseconomies of scale set in. In LAC4 the economies of scale continue over the whole range of output shown. This could occur in a market where the fixed costs are substantial, dominating the influence of variable costs.
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It transpires that the size of the minimum efficient scale relative to market demand has an important influence on the way in which a market will develop, and this has implications for the market power held by firms. This will be explored in the following chapters.
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Summary





•  A firm may face inflexibility in the short run, with some factors being fixed in quantity and only some being variable.



•  The short run is defined in this context as the period over which a firm is free to vary some factors, but not others.



•  The long run is defined as the period over which the firm is able to vary the input of all of its factors of production.



•  The law of diminishing returns states that, if a firm increases the input of a variable factor while holding input of the fixed factor constant, eventually the firm will get diminishing marginal returns from the variable factor.



•  Short-run costs can be separated into fixed, sunk and variable costs.



•  There is a clear and immutable relationship between total, average and marginal costs.



•  For a U-shaped average cost curve, marginal cost always cuts the minimum point of average cost.
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Exercise 2.3


A firm faces long-run total cost conditions as shown in Table 2.1.


Table 2.1 Output and long-run costs






	Output (000 units per week)

	Total cost (£000)






	0

	0






	1

	32






	2

	48






	3

	82






	4

	140






	5

	228






	6

	352










a Calculate long-run average cost and long-run marginal cost for each level of output.



b Plot long-run average cost and long-run marginal cost curves on a graph. (Hint: don’t forget to plot LMC at points that are halfway between the corresponding output levels.)



c Identify the output level at which long-run average cost is at a minimum.



d Identify the output level at which LAC = LMC.



e Within what range of output does this firm enjoy economies of scale?



f Within what range of output does the firm experience diseconomies of scale?



g If you could measure the nature of returns to scale, what would characterise the point where LAC is at a minimum?
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Revenue of firms


In the first part of the course (Book 1, Chapter 5), you saw how the total revenue received by a firm varies along the demand curve, according to the price elasticity of demand. In the same way that there is a relationship between total, average and marginal cost, there is also a relationship between total revenue, average revenue and marginal revenue.
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Key terms


total revenue the revenue received by a firm from its sales of a good or service; it is the quantity sold, multiplied by the price


average revenue the average revenue received by the firm per unit of output; it is total revenue divided by the quantity sold


marginal revenue the additional revenue received by the firm if it sells an additional unit of output
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Figure 2.6 reminds you of the relationship between total revenue and the price elasticity of demand (PED). The marginal revenue (MR) curve has also been added to the figure, and has a fixed relationship with the average revenue (AR) curve. This is for similar mathematical reasons as the relationship between marginal and average costs explained earlier in this chapter. MR shares the intercept point on the vertical axis (at point A on Figure 2.6), and has exactly twice the slope of AR.
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Motivations of firms


The opening section of this chapter stated that firms exist to organise production by bringing together the factors of production in order to produce output. This begs the question of what motivates them to produce particular levels of output, and at what price. This section considers alternative objectives that firms may set out to achieve.


Profit maximisation


Traditional economic analysis has tended to start from the premise that firms set out with the objective of maximising profits. In analysing this, economists define profits as the difference between the total revenue received by a firm and the total costs that it incurs in production:
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Total revenue here is seen in terms of the quantity of the product that is sold multiplied by the price. Total cost includes the fixed and variable costs that have already been discussed, but also includes an element of opportunity cost.


Consider the case of a sole proprietor — a small local business such as a gym or a taxi firm. It seems reasonable to assume that such a firm will set out to maximise its profits. However, from the entrepreneur’s perspective there is an opportunity cost of being in business, which may be seen in terms of the earnings that the proprietor could make in an alternative occupation. This required rate of return is regarded as a fixed cost, and is included in the total cost of production.
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Study tip


Whenever you have to draw this figure, remember that MR and AR have this relationship, meeting at A, and with the distance BC being the same as the distance CD. MR is zero (meets the horizontal axis) at the maximum point of the total revenue curve.
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The same procedure applies to cost curves for other sorts of firm. In other words, when economists refer to costs, they include the rate of return that a firm needs to make it stay in a particular market in the long run. Accountants dislike this, as ‘opportunity cost’ cannot be identified as an explicit item in the accounts. This part of costs is known as normal profit.
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Key term


normal profit the return needed for a firm to stay in a market in the long run
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Profits made by a firm above that level are known as abnormal profits, supernormal profits or economic profits.


In the short run, a firm may choose to remain in a market even if it is not covering its opportunity costs, provided its revenues are covering its variable costs. Since the firm has already incurred fixed costs, if it can cover its variable costs in the short run, it will be better off remaining in business and paying off part of the fixed costs than exiting the market and losing all of its fixed costs. Thus, the level of average variable costs represents the shut-down price, below which the firm will exit from the market in the short run. In situations where firms in a market are making abnormal profits, it is likely that other firms will be attracted to enter the market. The absence or existence of abnormal profits will thus be important in influencing the way in which a market may evolve over time.


How does a firm choose its output level if it wishes to maximise profits? An application of the marginal principle shows how. Suppose a firm realises that its marginal revenue is higher than its marginal cost of production. What does this mean for profits? If it were to sell an additional unit of its output, it would gain more in revenue than it would incur additional cost, so its profits would increase. Similarly, if it found that its marginal revenue was less than marginal cost, it would be making a loss on the marginal unit of output, and profits would increase if the firm sold less. This leads to the conclusion that profits will be maximised at the level of output at which marginal revenue (MR) is equal to marginal cost (MC). Figure 2.7 illustrates the situation. This shows a firm’s short-run average and marginal costs curve (SATC and SMC). It is assumed that the firm is operating in a competitive market, accepting the market price (P). The price also represents the marginal revenue that the firm receives from selling an additional unit of output. By choosing the output (q1) at which MR = MC, the firm makes profits given by the shaded area. At any other level of output the corresponding area of profit would be smaller. Indeed, the firm needs to be careful — notice that marginal revenue also equals marginal costs at q2, but at this point, average cost exceeds the price, and the firm makes losses. Technically this means that profits are maximised at the level of output at which MR = MC, and with marginal cost cutting marginal revenue from below. Indeed, this MR = MC rule is a general rule that tells a firm how to maximise profits in any market situation.
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Study tip


The MR = MC rule for profit maximisation is an important one, as it applies in any market situation where a firm sets out to maximise profits, so make sure you understand and remember it.
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The principal–agent problem


The discussion so far seems reasonable when considering a relatively small owner-managed firm. In this context, profit maximisation makes good sense as the firm’s motivation.


However, for many larger firms — especially public limited companies — the owners may not be involved in running the business. This gives rise to the principal–agent (or agency) problem. In a public limited company, the shareholders delegate the day-to-day decisions concerning the operation of the firm to managers who act on their behalf. In this case the shareholders are the principals, and the managers are the agents who run things for them. In other words, there is a divorce of ownership from control. The principal–agent problem arises primarily from an information asymmetry. This is because the agents have better information about the effects of their decisions than the owners (the principals), who are not involved in the day-to-day running of the business. In order to overcome this, the owners need to overcome the information problem by improving their monitoring of the managers’ actions, or to provide the managers with an incentive to take decisions that would align with the owners’ objectives. For example, by offering bonuses related to profit, the managers would be more likely to try to maximise profits.
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Key terms


abnormal, supernormal or economic profits profits above normal profits


principal–agent problem arises from conflict between the objectives of the principals and their agents, who take decisions on their behalf
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If the agents are in full sympathy with the objectives of the owners, there is no problem and the managers will take exactly the decisions that the owners would like. Problems arise in the presence of information asymmetry when there is conflict between the aims of the owners and those of the managers. There are various motivations that managers may pursue in this situation.


Revenue maximisation


The industrial economist William Baumol argued that managers may set out with the objective of maximising revenue. One reason is that in some firms managerial salaries are related to turnover rather than profits. The effects of this can be seen by looking back at Figure 2.6. You can see that total revenue is maximised at the peak of the TR curve (where MR = 0) at qr. A revenue-maximising firm will produce more output than a profit-maximising one, and will need to charge a lower price in order to sell the extra output. This should be apparent from the fact that profits are maximised where MR = MC, which must be at a positive level of MR — and thus to the left of qr in Figure 2.6.


Baumol pointed out that the shareholders might not be too pleased about this. The way the firm behaves then depends upon the degree of accountability that the agents (managers) have to the principals (shareholders). For example, the shareholders may have sufficient power over their agents to be able to insist on some minimum level of profits. The result may then be a compromise solution.


Sales maximisation


In some cases, managers may focus more on the volume of sales than on the resulting revenues. This could lead to output being set even higher, to the point at which total revenue only just covers total cost. Remember that total cost includes normal profit — the opportunity cost of the resources tied up in the firm. The firm would have to close down if it did not cover this opportunity cost.


Again, the extent to which the managers will be able to pursue this objective without endangering their positions with the shareholders depends on how accountable the managers are to the shareholders. Remember that the managers are likely to have much better information about the market conditions and the internal functioning of the firm than the shareholders, who view the firm only remotely. This may be to the managers’ advantage.




[image: ]





Utility maximisation


Oliver Williamson argued that managers would set out to maximise their utility. Just as consumers gain satisfaction from consuming goods, it is argued that managers gain satisfaction in various ways. For example, they may enjoy the status of having a large team of people working for them, or they may like to have discretion over the way in which profits made by the firm are used, perhaps allowing them to have a large and well-appointed office or a prestigious company car. Again, such activity would take the firm away from its profit-maximising position.


X-inefficiency


If managers are not fully accountable, they may become negligent, which may give rise to organisational slack. In other words, costs will not be minimised, as the firm is not operating as efficiently as it could. This is an example of what is called X-inefficiency. For example, in Figure 2.8 LAC represents the long-run average cost curve showing the most efficient cost positions for the firm at any output level. With X-inefficiency, a firm could end up producing output q1 at average cost AC1. Thus, in the presence of X-inefficiency the firm will be operating above its long-run average cost curve. It could be argued that X-inefficiency is also displayed when managers set out to maximise their utility.
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Behavioural theories


Businesses may not set out to maximise anything, either consciously because they have other motivations, or as a result of the principal–agent issue. For example, it might be that managers simply prefer a quiet life, and therefore do not push for the absolute profit-maximising position, but do just enough to keep the shareholders off their backs. Herbert Simon referred to this as ‘satisficing’ behaviour, where managers aim to produce satisfactory profits rather than maximum profits.


Firms may wish to develop a favourable reputation by demonstrating a commitment to acting in ways that benefit society at large, or that improve the welfare of their employees and the community in which they are located. This notion of corporate social responsibility (CSR) has become widespread, with firms devoting resources to promoting community programmes of various kinds and encouraging their employees to engage in volunteering activities.
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Key terms


X-inefficiency occurs when a firm is not operating at minimum cost, perhaps because of organisational slack


satisficing behaviour under which the managers of firms aim to produce satisfactory results for the firm (e.g. in terms of profits) rather than trying to maximise them


corporate social responsibility actions that a firm takes in order to demonstrate its commitment to behaving in the public interest
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Exercise 2.4


Google ‘corporate social responsibility’ with the name of some large firms with which you are familiar, and check out the range of activities in which firms engage under this banner.
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Has this now become a prerequisite for firms’ survival? If it is perceived that failure to engage with CSR has a major impact on firms’ sales, then it becomes crucial for a firm to be able to demonstrate its commitment in order to compete with its rivals. Devoting resources to CSR then becomes part of a firm’s strategy to safeguard its market position.


Why assume profit maximisation?


The discussion has revealed a range of reasons explaining why firms may depart from profit maximisation. Does this mean that it should be abandoned as an assumption?


It could be argued that some of the strategies adopted by firms may seem to diverge from profit maximisation in the short run, but may result in the maximisation of profits in the long run. For example, if all firms in a market are engaging in CSR in order to improve their credibility amongst their customers, then it could be argued that this expenditure becomes part of operating costs, and a necessary part of maintaining the market share needed to maximise profits in the long term.


From an economic modelling perspective, being able to assume that firms maximise profits allows the economist to come to an understanding of firms’ behaviour under a simple and clear assumption. This offers much more straightforward insights into this behaviour than trying to implement some of the more complex assumptions that could be made about what motivates firms’ decisions. Profit maximisation then provides a benchmark for other more complex models that enables an evaluation of how differently firms may behave under alternative assumptions. So even if it is not the case that firms always act to maximise profits, it is a useful starting point to ask how they would behave if they did maximise profits, and then explore alternative theories using profit maximisation as the benchmark against which to compare other models of behaviour.
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Summary





•  Traditional economic analysis assumes that firms set out to maximise profits, where profits are defined as the excess of total revenue over total cost.



•  This analysis treats the opportunity cost of a firm’s resources as a part of fixed costs. The opportunity cost is known as normal profit.



•  Profits above this level are known as abnormal profits.



•  A firm maximises profits by choosing a level of output such that marginal revenue is equal to marginal cost.



•  For many larger firms, where day-to-day control is delegated to managers, a principal–agent problem may arise if there is conflict between the objectives of the owners (principals) and those of the managers (agents).



•  This may lead to satisficing behaviour and to X-inefficiency.



•  William Baumol suggested that managers may set out to maximise revenue rather than profits; others have suggested that sales or the growth of the firm may be the managers’ objectives.
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Efficiency


Book 1 introduced the ideas of productive and allocative efficiency. The extent to which markets will deliver efficiency will be explored in the following chapters, but it is also important to refine these notions further. Indeed, it has already been noted that the principal–agent problem can lead to X-inefficiency, which is one reason why the ideal combination of productive and allocative efficiency will not be achieved.


Productive efficiency


The notion of productive efficiency is closely tied to the costs faced by firms, particularly in relation to the average total cost of production. Productive efficiency can be seen in terms of the minimum average cost at which output can be produced, recognising that average cost is likely to vary at different scales of output. For example, in Figure 2.4 the point q* may be regarded as the optimum level of output, in the sense that it minimises average cost per unit of output.
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Key term


productive efficiency when a firm operates at minimum average cost, choosing an appropriate combination of inputs and producing the maximum output possible from those inputs
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From the firm’s perspective, the decision process can be viewed as a three-stage procedure. First, the firm needs to decide how much output it wants to produce. Second, it chooses an appropriate combination of factors of production, given that intended scale of production. Third, it attempts to produce as much output as possible, given those inputs. Another way of expressing this is that, having chosen the intended scale of output, the firm tries to minimise its costs of production.


Notice that when the firm starts this decision process, it is likely to choose its desired output level on the basis of current or expected market conditions. However, remember the distinction between the short and the long run. Once the firm has chosen its desired scale of production, and installed the necessary capital, it is tied into that level of capital stock in the short run. If it needs to change its decision in the future, it will take time to implement the changes. In the short run, a firm may thus be in a situation of static efficiency, choosing the minimum average cost, given the market conditions at that time.



Allocative efficiency


The notion of allocative efficiency relates to the issue of whether an economy allocates its resources in such a way as to produce a balance of goods and services that matches consumer preferences. In an individual market, this would mean that firms were producing the ideal amount of a good that consumers wish to buy. This is related to the notion of equilibrium in the demand and supply model, in which prices act as signals to consumers and producers to bring demand and supply into equilibrium. However, Book 1 demonstrated that there are situations in which market failure can occur, thus preventing the best allocation of resources from society’s point of view.



Dynamic efficiency


The discussion of efficiency so far has been conducted in terms of how to make the best use of existing resources, producing an appropriate mix of goods and services and using factor inputs as efficiently as possible, given existing knowledge and technology. This is good as far as it goes, but it does represent a relatively static view of efficiency.


Dynamic efficiency goes one step further, recognising that the state of knowledge and technology changes over time. For example, investment in research and development today means that production can be carried out more efficiently at some future date. Furthermore, the development of new products may also mean that a different mix of goods and services may serve consumers better in the long term.
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Key terms


static efficiency efficiency at a particular point in time


allocative efficiency achieved when society is producing the appropriate bundle of goods and services relative to consumer preferences


dynamic efficiency a view of efficiency that takes into account the effect of innovation and technical progress on productive and allocative efficiency in the long run
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The notion of dynamic efficiency stemmed from the work of Joseph Schumpeter, who argued that a preoccupation with static efficiency may sacrifice opportunities for greater efficiency in the long run. In other words, there may be a trade-off between achieving efficiency today and improving efficiency tomorrow.
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Summary





•  A society needs to find a way of using its limited resources as efficiently as possible.



•  Productive efficiency occurs when firms have chosen appropriate combinations of factors of production, and produce the maximum output possible from those inputs.



•  Allocative efficiency occurs when firms produce an appropriate bundle of goods and services, given consumer preferences.



•  An individual market exhibits aspects of allocative efficiency when the marginal benefit received by society from consuming a good or service matches the marginal cost of producing it — that is, when price is equal to marginal cost.



•  Dynamic efficiency recognises that there may be a trade-off between efficiency in the short run and in the long run.
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Case study 2.1


Coke vs Pepsi in India


In the mid-2000s it was reported that Coca-Cola and PepsiCo were fighting to increase their sales in India. A pesticide scare in the previous year had caused sales to plummet, and the two firms were anxious to recover the situation.


The tactics they adopted were to reduce the size of the bottles for sale in order to appeal to consumers with low incomes, to cut prices, to increase the availability of the products in rural areas, and to encourage more at-home consumption in the urban areas.


It was seen that there was plenty of scope for growth in the market, as India showed one of the lowest average levels of consumption of fizzy drinks in the world, and was substantially below the Asian average. This may partly reflect the way that children have been discouraged from drinking colas by their teachers at school.


The prices being charged were rated as being the world’s lowest prices for cola as the two firms battled to increase their market shares. However, in consequence the firms faced reductions in their profit margins, and continued to face competition from local producers. The logistics of supplying such a geographically large and diverse region, given the need to ensure refrigeration, added significantly to costs. Attempts were made to counter this by reducing the weight of the bottles and by making use of cheap transport in the form of bullock carts and cycle rickshaws in the rural areas.


Market analysts said that soft-drink companies should be able to improve profits, but executives remained bent on boosting volumes. The vice-president of Coca-Cola marketing in India was quoted as saying that ‘any affordability strategy will put pressure on margins, but it is critical to build the market’.


The pesticide issue proved to be a long-lasting controversy, and the Kerala government filed a criminal complaint against PepsiCo over its environmental impact, although this was rejected by the Supreme Court of India in 2010. Indeed, the US Department of State named PepsiCo as one of the 12 multinationals that displayed ‘the most impressive corporate social responsibility credentials in emerging markets’.
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Follow-up questions





a Given the statements in the passage, do you think that Coca-Cola and PepsiCo were trying to maximise short-run profits?



b Explain your answer to (a) and comment on what the firms were trying to achieve by their strategies.



c Identify ways in which the firms were seeking to influence their costs.



d How do you think PepsiCo’s record on CSR will have affected its position in the market?



e Discuss what you think the firms would want to achieve in the long run.
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Chapter 3



Market structure: perfect competition and monopoly


Book 1 introduced the notion of market failure — describing situations in which free markets may not produce the best outcome for society in terms of efficiency. One of the reasons given for this concerned what is termed ‘imperfect competition’. It was argued that, if firms can achieve a position of market dominance, they may distort the pattern of resource allocation. It is now time to look at market structure more closely in order to evaluate the way in which markets work, and the significance of this for resource allocation. The fact that firms try to maximise profits is not in itself bad for society. However, the structure of a market has a strong influence on how well the market performs. ‘Structure’ here is seen in relation to a number of dimensions, but in particular to the number of firms operating in a market and the way in which they interact. This chapter considers two extreme forms of market structure: perfect competition and monopoly.
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Prior knowledge needed


Part 2 of Book 1 discussed market equilibrium under the assumption that firms operate in a competitive market. This chapter and the next build upon this, explaining more carefully what is meant by a ‘competitive market’, and examining markets that do not operate in this way.
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Learning objectives


After studying this chapter, you should:





•  understand what is meant by market structure, and why it is important for firms



•  appreciate the significance of barriers to entry in influencing the market structure



•  be familiar with the assumptions of the model of perfect competition



•  understand how a firm chooses profit-maximising output under perfect competition



•  appreciate how a perfectly competitive market reaches long-run equilibrium



•  understand how the characteristics of long-run equilibrium affect the performance of the market in terms of productive and allocative efficiency



•  be familiar with the assumptions of the model of monopoly



•  understand how the monopoly firm chooses output and sets price



•  understand why a monopoly can arise in a market



•  understand how the characteristics of equilibrium under monopoly affect the performance of the market in terms of productive and allocative efficiency



•  be aware of the relative merits of perfect competition and monopoly in terms of market performance
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Market structure


Firms cannot take decisions without having some awareness of the market in which they are operating. In some markets, firms find themselves to be such small players that they cannot influence the price at which they sell. In others, a firm may find itself to be the only firm, which clearly gives it much more discretion in devising a price and output strategy. There may also be many intermediate situations where the firm has some control over price, but needs to be aware of rival firms in the market.


Economists have devised a range of models that allow such different market structures to be analysed. Before looking carefully at the most important types of market structure, the key characteristics of alternative market structures will be introduced. The main models are summarised in Table 3.1. In many ways, we can regard these as a spectrum of markets with different characteristics.




[image: ]


Key term


market structure the market environment within which firms operate
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Perfect competition


At one extreme is perfect competition. This is a market in which each individual firm is a price taker. This means that no individual firm is large enough to be able to influence the price, which is set by the market as a whole. This situation would arise where there are many firms operating in a market, producing a product that is much the same whichever firm produces it. You might think of a market for a particular sort of vegetable, for example. One cauliflower is very much like another, and it would not be possible for a particular cauliflower-grower to set a premium price for its product.


Such markets are also typified by freedom of entry and exit. In other words, it is relatively easy for new firms to enter the market, or for existing firms to leave it to produce something else. The market price in such a market will be driven down to that at which the typical firm in the market just makes enough profit to stay in business. If firms make more than this, other firms will be attracted in, and thus abnormal profits will be competed away. If some firms in the market do not make sufficient profit to want to remain in the market, they will exit, allowing price to drift up until again the typical firm just makes enough to stay in business.
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Monopoly


At the other extreme of the spectrum of market structures is monopoly. This is a market where there is only one firm in operation. Such a firm has some influence over price, and can choose a combination of price and output in order to maximise its profits. The monopolist is not entirely free to set any price that it wants, as it must remain aware of the demand curve for its product. Nonetheless, it has the freedom to choose a point along its demand curve.


The nature of a monopolist’s product is that it has no close substitutes — either actual or potential — so it faces no competition. An example might be Microsoft, which for a long time held a global monopoly for operating systems for PC computers. At the time of a famous trial in 1998, Microsoft was said to supply operating systems for about 95% of the world’s PCs.


Another condition of a monopoly market is that there are barriers to the entry for new firms. This means that the firm is able to set its price such as to make profits that are above the minimum needed to keep the firm in business, without attracting new rivals into the market.



Monopolistic competition


Between the two extreme forms of market structure are many intermediate situations in which firms may have some influence over their selling price, but still have to take account of the fact that there are other firms in the market. One such market is known as monopolistic competition. This is a market in which there are many firms operating, each producing similar but not identical products, so that there is some scope for influencing price, perhaps because of brand loyalty. However, firms in such a market are likely to be relatively small. Such firms may find it profitable to make sure that their own product is differentiated from other goods, and may advertise in order to convince potential customers that this is the case. For example, small-scale local restaurants may offer different styles of cooking.


Oligopoly


Another intermediate form of market structure is oligopoly, which literally means ‘few sellers’. This is a market in which there are just a few firms that supply the market. Each firm will take decisions in close awareness of how other firms in the market may react to their actions. In some cases, the firms may try to collude — to work together in order to behave as if they were a monopolist — thus making higher profits. In other cases, they may be intense rivals, which will tend to result in abnormal profits being competed away. The question of whether firms in an oligopoly collude or compete has a substantial impact on how the overall market performs in terms of resource allocation, and whether consumers will be disadvantaged as a result of the actions of the firms in the market.


Barriers to entry


It has been argued that if firms in a market are able to make abnormal profits, this will act as an inducement for new firms to try to gain entry into that market in order to share in those profits. A barrier to entry is a characteristic of a market that prevents new firms from joining the market. The existence of such barriers is thus of great importance in influencing the market structure that will evolve.


For example, if a firm holds a patent on a particular good, this means that no other firm is permitted by law to produce the product, and the patent-holding firm thus has a monopoly. The firm may then be able to set price such as to make abnormal profits without fear of rival firms competing away those profits. On the other hand, if there are no barriers to entry in a market, and if the existing firms set price to make abnormal profits, new firms will join the market, and the increase in market supply will push price down until no abnormal profits are being made.
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Summary





•  The decisions made by firms must be taken in the context of the market environment in which they operate.



•  Under conditions of perfect competition, each firm must accept the market price as given, but can choose how much output to produce in order to maximise profits.



•  In a monopoly market, where there is only one producer, the firm can choose output and price (subject to the demand curve).



•  Monopolistic competition combines some features of perfect competition, and some characteristics of monopoly. Firms have some influence over price, and will produce a differentiated product in order to maintain this influence.



•  Oligopoly exists where a market is occupied by just a few firms. In some cases, these few firms may work together to maximise their joint profits; in other cases, they may seek to outmanoeuvre each other.
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